
Domain:  All of the x-values 
that the relation takes on. 
 
Range:  All of the y-values 
that the relation takes on. 



Domain: 

   Range: 



Domain: 

   Range: 

 | 2x x  

 | 2y y 



Domain: 

   Range: 



Domain: 

   Range: 

 | 1 3x x  

 |1 5y y 



Domain: 

   Range: 



Domain: 

   Range: 

 | 0 2x x 

 | 0 4y y 



Domain: 

   Range: 



Domain: 

   Range: 

 |x x

 | 2y y  



Domain: 

   Range: 



Domain: 

   Range: 

 | 2x x 

 |y y



Domain: 

   Range: 



Domain: 

   Range: 

 |x x

 |y y



Domain: 

   Range: 



Domain: 

   Range: 

 |x x

 | 0y y 



Domain: 

   Range: 



Domain: 

   Range: 

 | 2x x 

 |y y



Domain: 

   Range: 



Domain: 

   Range: 

 |x x

 |y y



Domain: 

   Range: 



Domain: 

   Range: 

 | 0x x 

 | 0y y 



Domain: 

   Range: 



Domain: 

   Range: 

 | 2x x 

 | 3y y 



Domain: 

   Range: 



Domain: 

   Range: 

 | 0x x 

 | 0y y 



Domain: 

   Range: 



Domain: 

   Range: 

 |x x

 | 0y y 



Domain: 

   Range: 



Domain: 

   Range: 

 |x x

 | 2y y 



Domain: 

   Range: 



Domain: 

   Range: 

 |x x

 | 4y y  



Domain: 

   Range: 



Domain: 

   Range: 

 |x x

 | 4y y 



Domain: 

     Range:                         approximately 



Domain: 

     Range:                         approximately 

 |x x

 | 1.75y y 



Domain: 

     Range:                       



Domain: 

     Range:                       

 | 7 1x x  

 | 3 5y y  



Domain: 

     Range:                       



Domain: 

     Range:                       

 |1 5x x 

 | 3 3y y  



Domain: 

     Range:                       



Domain: 

     Range:                       

 |x x

 |y y



Domain: 

     Range:                       



Domain: 

     Range:                       

 | 0 4x x 

 | 0 2y y 



Domain: 

     Range:                       



Domain: 

     Range:                       

 |x x

 |y y



Domain: 

     Range:                       



Domain: 

     Range:                       

 |x x

 | 4y y 


